Questions for: PROBLEM SET 05

Name ___________________________  Section ____________

Use your worksheet and graphs to answer the following questions.

1. a.  What are the slope and intercept of your demand  curve?


SLOPE = __________

INTERCEPT = ________
b. What is the highest (absolute value) value of elasticity along this demand curve?  The lowest value?  What happens to price elasticity of demand, in absolute value, as you move down the demand curve?  Explain.
HIGHEST = ________

LOWEST = ________
2. a.  When the demand-price changes from $100 to $90, what happens to quantity demanded?  What is the price elasticity of demand in this region?  Using the numerical value of the elasticity, carefully explain what happens to the quantity demanded when there is a change in price.

b. When the demand-price changes from $80 to $70, what is the price elasticity of demand?  Carefully interpret this price elasticity of demand.

c. Why might you expect the price elasticity of demand to be higher where prices are higher?  Explain.

3. Take a close look at your total revenue curve.  

a.  Why does it begin and end with 0?  Over what price range is total revenue maximized?  

b. Suppose you are in charge of establishing a pricing policy for this product and the firm is interested in maximizing its sales revenue.  From the information on price elasticities and total revenue that you have calculated, what would you recommend?

4. Why is total revenue calculated from the demand curve and not the supply curve? 

5. a. What are the slope and intercept of your supply curve?

SLOPE = __________

INTERCEPT = ________

b.  What is the highest value of elasticity along this supply curve?  The lowest value?  What happens to price elasticity of supply as you move up the supply curve?

HIGHEST = ________

LOWEST = ________

c. Why are slope and elasticity not the same here?  Explain.

6.  Why are the price elasticity of demand and supply different at each price level?  Explain.
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